BUS 310, Final Exam B, ‘fall 2018 Name
Section

Instructions: This exam is in two parts: Part | is to be completed parfly at home using the materials
posted on Blackboard for Part | and you will answer questions aboutithat work in class below; Part Il is

to be completed entlreI\/ in class. You may not use cell phones, and you may only access internet
¥
resources you are spemf:cally directed to use. You may access your flata file for Part | of the exam in

Blackboard. You may ac:cess the data files posted to Blackboard for the Exam partll. Be sure you are
using the data file that matches the exam version you are given.

Part I: At Home

This part was completed at home. You can upload the Excel file for Part | to the Part | folder in

Blackboard for use during the Exam period. However, this submissi l will not be graded in this location,

|
it must be submitted to the “to be graded folder” to receive credit.

Part II: In Class

1. Use the work d(;)ne at home to answer the Part | questions.

2. Open the file from the in-class portion of the final posted on{Blackboard that corresponds to the
version of the exam you have. This is Exam B. |

3. Answer the queftlons corresponding to the data file, and any additional calculation in Excel
required. ' ‘

4. When you have finished answering questions on the exam, dnd all your answers have been
recorded on the: paper test for grading, upload both the takd home Excel file and the in-class
Excel file to the same in-class Exam folder in Blackboard for grading. Only those files submitted
to the correct follder will be graded. (If in doubt, put all work in one Excel file.)

5. Turninyour paéer copy of the exam to your instructor.

6. Enjoy your break!




Part I:

The following questions refer to problem #1 from Part I:

1.

2.

3. What is the shadow price for light beer. Interpret the meani

Write the objecti
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The following questions refer to problem #2 from Part I:
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5. After eliminating all variables whose coefficients failed their ¢
equation you obtained, the R?2

For your complet

tive function you are using to minimize prodliction cost. State the minimum cost.
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6. Define the term
(8 points)

it

WtMJ-jUtUA
Tre prcd

7. Did anyofthe s
(8 points)

Mt L

8. State a 95% con
it in context. (8

wewe G

Selr 7

9. Interpret the me

g ans

LR c_anl

oo

overfitting. Why is overfitting bad when deleloping regression models?

predich o bend i 4 dadesdh W o
a/wﬂwfurmiti whugle v Lg@umw@w (doo
ables) oty o feres (%“"L/ﬂ’““fu“"a’b

urviving variables in the final model appear t be nonlinear? Why or why not?

"/@@43 Ao
szm

fidence interval for the coefficient for Enrollfnent in your final model. Interpret
points)

(10,30, 2.0>)

% fhat The e 1l | 57:@

N %
o sk ellmunh (5 behdes % W

[0.20 and 20.03,

aning of the slope for Percent Internationallin context. (8 points)
38R
% nertase . 9% o] Sudunks
,WM auesogL Sl g SA‘QM’I G
by Y357




10. Use your equati
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nonlinear? Explain. (8 points)

W A4 a,}@pzw.% éﬂ A
bk ’/m,[ o Thortoae Mcds_@p

y of the graphs indicate the variables

12. Interpret the meaning of the R2
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in the data? Use the residuals and residual lots to determine which

point is suspect. Use

produced by the regression analysis. Multiply the standard error
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The following questions are based on problem #3 from Part I:

14. Using data on public and private business schools, determing

dependent or iﬁdependent. Explain your reasoning. (6 poin o

‘ﬁ\u/ are cndapenoext
JM?W/& seoare Mot T Sax

if the two measurements are

)

g
i

15. Conduct an appropriate t-test to determine if private schools

result in higher initial starting
salaries or not. State the null and alternative hypotheses, té

st statistic, P-value and state the
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Calculations in Excel: (1) 30 points, (2) 50 points, (3) 25 points.

Part Il

16. A manufacturer requires steel plate to be 0.05 inches thick.
process they are using produces plates of the correct thickne

provided in the |data file. Conduct a hypothesis test to determine if this sample meets this

minimum requirement. State the hypotheses, test statistic, P-value and conclusion. Is this
sufficient eviderllce to think the plates are thick enough? (12/points)
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17. Interpret a Type | and Type Il error in the context of this problem. (8 points)
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18. Construct a 909%1 confidence interval for the mean ‘“mm Interpret the interval in

context. (8 points)
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19. Suppose that you wish to sample employees of a large compa Y to determine factors that
predict high inside sales commissions in order to prepare for afnew training program. The
company has 1891 employees in this position around the world. The company wants to select
10 of them for an iinitial study of best practices. Eligible employees are assigned numbers from 1
to 1891 based on their date of initial hire. Select a simple random sample and report the
employee numbers you have selected below. (6 points)
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Standard errors
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